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SN ________       ID _____________ NAME _______________________________________ 
Show all necessary steps for full marks. 
Question 1:  (7 points): If 2( ) 2 ; 1f x x x x= − ≤   then  

i) find )(1 xf −               

ii) sketch the graph of )(1 xf −  
Solution (i):     
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Question 2:  (4 points): If ( ) 2
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, 1x ≠ , then  1 3

2
f − ⎛ ⎞

⎜ ⎟
⎝ ⎠

 is equal to 

(a) 3−  
(b) 3  

(c) 2 3 

(d) 2 3−  
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Solution: Let 1 3
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1( ) 1 1f x x− = − −

2( ) 2f x x x= −

( 3, 1)− −

(1,1)

( 1, 3)− −
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Question 3:  (4 points): If 1 3( ) 2 tf t −=  is written in the form ( ) tf t k a= , then find 
the values of a  and k . 

Solution:   ( )1 3 1 3 3 1( ) 2 2 2 2 2 2     
8

ttt tf t − − − ⎛ ⎞= = ⋅ = = ⇒⎜ ⎟
⎝ ⎠

12   and  
8

k a= =  

Question 4: (4.2Example 3) (6 points):   
Graph each function. Give the domain and range. 
(a):  ( ) 2xf x = −   (b):  3( ) 2xf x +=   (c)::  2( ) 2 1xf x −= −  

 

 
Question 5:  (4 points): Sketch the graph of   (a): ( ) xf x e= −  (b): ( ) xg x e=  

Solution:  

(a): ( )  because 0 for all ( , )x x x xf x e e e e x= − = = > ∈ −∞ ∞  (b): 
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